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ECONOMICS
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

Ty

For a linear demand curve, which of the following is true ?
(1) Elasticity of demand is unity at all points. {

2)  Elasticity of demand is constant at all points. f §

()
(3)  Elasticity increases as one slides down the demand curve.
(4)

4)  FElasticity declines as one slides down the demand curve:*.

AN S
-
A discriminating monopolist will charge a l?d'er price in the market in which the price
elasticity of : i . I.'

(1) demand is greater (2) f supplji is s_%naller

(3) demand is smaller (4) ' supply ig'greater

F
Fd

[

owned by share-holders

L
What is a public limited company ? , ™
(1) owned by the governmetnﬁ g 2
(3) owned by financial instituécions (4) owned by MNCs

i,

Between the two situations for a firm profit maximization and sales revenue maximization,
the equilibrium for a profit maximiser as compared to sales revenue maximiser, takes place
at : I

(1) - larger output and lower price (2) lower output and higher price
¢ (3) lower outp‘?t and lower price (4) larger output and larger price

Neo-classical production function has which of the following characteristics ?
(a) " Positive and diminishing marginal productivities of the factors

(b), Constant returns to scale

(c) ':" Satisfies Inada conditions

Choosé the correct answer from the code below :

(1) (a) and (b) (2)  (a) and (c) (3) (b)and (o) 4)  (a), (b) and ()

)
o-ans [ I

N
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6.  On the given diagram, which of the following segment correctly depicts the supply curve of
a producer ?
Y
MC
B AC
AVC
Costs D
i
C %
{
A r'
o X r
Output
(1) DE (2) CB (3) AB . (4) DB
F ks
7.  Product differentiation is relevant to which set of the following market forms ?
(I)  Monopoly, Monopolistic Competition, Okgz)poly. < ,
(2) Perfect Competition, Monopoly, Oligop’oly. |
(3)  Monopolistic Competition, Oligopoly and Oli opsg;'ny.
(4) Perfect Competition, Monopoly and Bilateral %?'opoly
8.  In imperfect factor and product markets, labour exploitationds represented by :
(@) When ARP is > Average wage™ |
(b) When ARP is > Marginal &iagﬁ'
() When ARPis <MRP 4
(d) When ARP is < Margi_rlatl Q'Nage
Select the correct answer from the codes given below :
1) (), @ < @ (@) © (3) (), () @ (@ ©
9.  Who among the following economists emphasized the role of non-economic factors in
explaining growth ?
(1) - RM. Solow (2) Roy Harrod (3) N. Kaldor (4) E. Domar
' -‘ |
10./ Which one of the following is not an Hirofumi Ujawa condition for a well behaved production
function ?
(1) Continuously differentiable
(2) = When x=0, f(x)=0
(3) The second derivative of the function is negative
(4),  The function is concave
v
11. Exponents of the Cobb-Douglas production represent :
(1) Output elasticity of factors (2) Share of factor income in total income
(3) Both (1) and (2) of the above (4) Neither (1) nor (2) of the above
o-ons [N ; Fapeca
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6. fou U s # 7 § @ M e Ts S ok (A ook o1 Wel g | Yfiq il § 2
Y
MCAC
AVC
RIUGI D
C
A (
O Sedre X .r f
(1) DE 2) CB (3) AB _ (4) DB
7. freAifea 3 @ frg 99N @ET F 998 WA fave amam g7 Hﬁ-
(1) THIYUSR, THIFHRT T, STEiaR // ’
(2) ol gfqefir, TR, sTemfisr / '
(3) UHIUHRT U, STemfsR, Serhdaiaet |
) o A, i s i T V
8. 31Ul WY IR I TSR H, %Waﬂﬁwﬁﬁw'uﬁﬁfagw%?
(a) T ST T ST > S EEEY
(b) @ A ATH IACHA i%fuﬁ EE
() & 3iq AT IACHA-< AT,
(d) & STEd ATH ISl < HHid A5G
frrerifara faw o 2 & w3 A -
1) (a), (d) @) (@ (@ G) () (b) 4)  (d), (9
9. ﬁﬁﬁﬁm@w 3 Hgfg &t e § R-anfdfw we &1 yfrew w® g fean ?
;1) R ?ﬁ@_ e RRAIE (3) T e @) % =
10. U YHGRING SIeT Werd & e f19 § 9 F T felgH SSimen sTeeen & ¢ 2
(1) . Gqd TR (2) S&x=0, f(x)=0
(3{ o w1 G STahers HURHE § (4) el STEdd ¥
11. EFT;F STAY II1GH & HIdish SUd &
(1) Hehl F 3R A (2) FA A H TH T A fe=
(3) W H ¥ (1) AR (2) IAT (4) SWEHFIATD (1) IRAH (2)
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12.

13.

14.

15.

16.

Concept of scale economies applies in :

(1) Long - run with constant technical coefficients.

(2) Long - run with variable technology.
(3)  Short - run with constant technology.
(4) Short - run with variable technical coefficient.

Consider an economy with a Cobb-Douglas type of production function with two -inputs -
capital and labour. The share of capital and labour in total output are, respectively

3 I L
n and 1 The rates of growth of capital and labour are, respectively 8% fmd 4% per apnum.

Neutral technical progress takes place at the rate of 3% per annum. What will bel the rate of
growth of output per annum in this economy ? . v
(1) 5% 2 7% (3) 9% “(4) 8%

(
Which of the following conditions is most hkely tdﬂeneﬁt a debtor under new classical economic
framework ?

{

(1) Anticipated deflation @) | Antlc tec":l inflation

(3) Unanticipated deflation 4) Unan‘i ted inflation

Which theory assumes that increase i stock of money is dlrectly spent on goods ?
(1) Quantity theory of moneyegy I (2) IS-LM'theory

(3) Keynes V4 < (4) None of the above

In Harrod’s model of economic growth, if warranted rate is below the natural rate of growth
then it is possible to ]i:namjaam steady state growth at warranted rate with :

(1) Continually increasing unemployment
2

()
(3) = Continually decreasing unemployment
(4)

4)  None of th?above

A constant rate of unemployment

17. Wage is determined where :

(a) * Demand f?r labour = supply of labour

(bl MRP of labour = marginal wage

(c)' , MRP of labour = ARP

(d) . MRP of labour = Average wage

Select the correct combination from above :

(1) (a) and (b) (c) and (d) (3) (a) and (c) (4) (a) and (d)
oans [ H||||H|H|\|H||\|“H|||\|\|\|\||H|| ; -
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12. W =t fageafameti &1 srauron frafated 9 foeg § r gt €72
(1) <rewa | fEer qeRteRT TSR
(2) <rewa | e et
(3) g | feer drefirnt
(4)

3TeqhTd H qRedTeiial dehiren! Ul

13. T ATl - oI 3R 90 & W1 Hid - ST 3cae Herd o YRR are «ﬁoqolwlq'{quﬁliﬁl 3l
£ s

ScTed H gt oI oM w1 fewm wAen — 1 3ﬁ1 > %‘l St SR om 1 fg HT G RAA: 8% R 4%

gided 1 3% uﬁaﬁﬁaﬁwaﬁﬁwﬁr@ﬁ%l Waﬁw&wﬁmﬁmﬁq@a

ERIETi J
1) 5% Q) 7% 3) 9% { @ 8%

14. -9 FAfaEE Afedew qRged | H=fataa 5 @Eégaﬁmﬁ AT B T HATGAT Al § 2

(1) I STIEmIfd
(3) ST STIERIT Wﬁv

15. aﬁ'—r—mFHoslvdﬂ’a’*—u—ml%%m%mﬁ@ﬁmﬁq@ﬁﬂ&imﬁaﬁaﬁwwgﬁ?ﬁ%?
(1) [ =1 amn fagr <, [ (2 oEw@ - wawm (IS- LM %) fagm
(B) wH H S (@) S H 9w e

16. %ﬁg%ﬁ%q@wﬁﬁﬁma%ﬁma@w%ﬁﬁwﬁ@Twéhwaqirm
awqﬁgﬁﬁi«ﬁﬂia?ﬁwmqw%?
(1) TR s s (2) USR] T R <X
(3) - FRE =iy sRsTm (4) SR T F HiE T

17." Wwﬁ%%mﬁm%aﬁ:
(a) WEﬁWﬁT.; 9 1 SAgfd
(b)" & ! WG AT SACHAT = Hwiq TRAHR
(o) gH 1 HIHId STH IcAGehdl = HHd SATTH SATGhH]
(d) ¥ 7\ HT HHIG ST IAEHAT = FHd qRAHE
T B & W e B
(1) () 3R (b) (2) () ¥R (d) (3) (a) ¥ (o) 4) () ¥R (d)
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18.

19.

20.

21.

22,

Codes :

According to Harrod, neutral technical progress is characterised as :

(1) Capital augmenting

(2) Labour augmenting
(3) Both labour and capital augmenting
(4) Productivity increasing

The capacity creating aspect of investment in growth theory was explained by :f :
(1) RF. Harrod (2) E.D. Domar (3) R.M. Solow (4) 2PA. Samﬁe]son
{ r

The rate at which banks lend to RBI is known as :

(1) Bank Rate (2) Repo Rate - ¢

(3) Reverse Repo rate (4) Interest Rate
»

Assertion (A) : AK model is an endogenouﬁ,fmodell. I_"

Reason (R) : This is due to absence of diminishing returns to scale with respect to capital.

Then which of the following options is correct ? rf .

(1) Both (A) and (R) are true and (R) is the correct explanaﬁon of (A).

(2) Both (A) and (R) are true and(R),is not the Corfect explanation of (A).

(3) (A) is true but (R) is false. - £

(4) (A) is false but (R) is trué. |

Assertion (A) : Aceording to Marx in a capitalist society organic composition of capital
incrgases” with time.

Reason (R) : Technoloéical progress is continuously more capital intensive.
Select the anqwde;zr from the code given below :
- |
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) _ (A) is truejbut (R) is false.
4) (A)is false but (R) is true.
\

A 1e1éls elastic IS curve means that :

23.
(1) 1\.;Ionetary policy is more effective (2) Monetary policy is less effective
Fiscal policy is less effective (4) Both (1) and (3) are true
s |H||H||H HTIR : -
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18. U % TIHR Y qeh-1eh! TI( h! el STl ¢
(1) IS Ha€q am
(2) 99 Ha€T et
(3) <M g9 IR Yt HaeT awedt
(4) USHAT T HelH
19. wgfg fagra & faw & amar g5 veq ®1 foreeh g1 foar & sramn o © 2
(1) RTE W (2) B2 TR (3) ORuE el (4) \du dgeeEd
i )
20. @ W R IF MRS T IUR < § 98 FeaAdl §
1) & (2) W] ‘g .
(3) focim ¥@ (4) =S g% L
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FOTR) ;G F ¥ w3 R g w1 et 3w ae ¥
fr=fafaa § @ =@ @ fasey @@ €2 ?i
1) (A) 3R (R) 3 =& ¥ 3R (R), (A) 1 & ot g1 S
@) (A) 3R (R) 3T T ¥ e (R), (Ryeh T TR T R
() (WwEwg R | f '
@ @ Ewg R w@ el
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%2 "4
/(1) (A) IR RYFANEE T a9 (R), (A) FT & TR |
@) (A) 3R (R) B T ¥ T (R), (A) BT T T
(3) (A) W ® T (R) T T
(4) (A) 7A€ WG (R) 9L B |
i
23, W ATE.TH. (IS) =k T 3T & T -
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24. Consider the following :

(a) Nominal GDP (b)  Price level (c)  The rate of interest

In monetarism, money supply determines which of the above ? Answer from the code given
below :

Codes :

(1) All theabove (2) Only (c) (3) (a) and (b) (4) (b) and(g)

f

25. In Keynesian framework, at full employment, which of the following is/are true ? ,.(" .

(a) Supply curve in the short period is inelastic. f F

(b)  The supply is influenced by the increase in the quantity of money.

Select the answer from the code given below : - F

Codes : S L (

(1) Both (a) and (b) are true l,-/ .
(2) Neither (a) nor (b) are true / |
(3) Only (a) is true f \ .
(4) Only (b) is true {é

26. Who among the following econom Xsts considered tﬂe portfolio approach to demand for

money ? d.
(a) J.M. Keynes (ﬁ)rl M. Friedman (c) James Tobin
Select the correct answer fI‘(;I_n the code given below :
Codes : -
(1) All the above { { (2)  Only (b) and (c)
(3) Only (b) | (4) Only (a)
|
27./ When LM Curve;is vertical, which one of the following is correct ? An increase in money
supply will lead
(1) Fall in interest rate (2) Fall in the level of income
(3)" Rise in the|rate of interest (4) No change in the level of income

\

28. Wha among the following believe the velocity of money to be constant ?

(1) Classicals (2) Keynesians
(3) Monetarists (4) Both (1) and (3) above
oans [ HLAEA AN 10 —
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24, fr=AfafEd | fa=m =i :
(a) Tifgw Tha =] I (b) HIHd & (c) =N &l T
TR | & i Yfd ITe § 9 fohwreht freior a3t ©7 = fou T el 9 S| 9 -
%<
(1) SRR EH () FAA () (3) (@) 3 (b) 4 () 3R ()
25. St i g e et & fretffed ¥ @ B-ay/E w382 P4
(a) MY =3k STeaTaty H Teien Te1 g | { r
(b) g1 k! AN A gfg @ egfd genfaa Bt ¥
A few T e | wE SR g ¢ PP
E T 4 - |
(1) (a) 3R (b) T T ) J,/K G
(2) T (a) SRAE (b) T B / _,
(3) A (a) TE T i \dj
(4) A (b) T T .14
¥ {
26. fFrfafed 5 4 fra aﬁqra%%_g@azmﬁm%wmmwwfw?
(a) SLTA. ¥ (B4 T frew (c) Smm e
= feu T %l 9 W& S| T ¢
% : -
O swREEd (@ | )R (3) FE (b) () o (a)
27. & TA.TH. (LM??%E‘H?H’(@HT%, @ T feafq # frefated 9 @ wF-w @@ €2 g1 omafd |
{ fs QEME
1) =S RH 2) o™ % wRH fiREe
(3) maﬁ'él[% (4) o % TR H HIE aRadq Tl
28. ﬁ%@i‘?@ﬁﬁ@ﬂﬁ?%ﬂﬂﬁ%ﬁ@ﬁéﬂﬁﬂ?%?
(1) It (2) AT
(3) Wl (gmEeh) 4) (1) 3R (3) THL
oous [N ”
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29.

30.

31.

32.

Which one of the following is not correctly matched ?

(1) Long-run consumption function : Permanent Income Hypothesis
(2) Demand for money balances to be held : Fisher’s equation

(3) Real balance effect : Tobin’s portfolio theory

(4) Labour theory of value : Ricardo’s theory of distribution

For Keynesian demand for money, which of the following is correct ? People wish to hold

money in the form of : 'f;
(1) Cash (2) Bonds { r
(3) Both Cash and Bonds (4) Neither Cash nor Bonds
Crowding out will emerge in the economy;, if : _ | (
(1) government spending is on the rise /,/ . ”
(2)  deficit financing is in control ..'f ,'I
¥ | I
(3) both (1) and (2) are relevant [ /
(4) neither (1) nor (2) are relevant \ (f

-

Which one of the following is/are not true for a snnpfe Y =AK model ?
(a) Constant exogenous savirigs Egte

(b) Non-operation of dlmmﬁbhng returns to scale

(c) Constant endogenous savings rate.

Choose the answer from the code given below :

Codes : ' {
(1)  (a) and (b) are true (2) (b) and (c) are true
(3) Only (c) 18 true (4)  Only (b) is true

Consider the foll!wing statements with regard to “Make in India” programme :

33.
(@) It concentrates on 25 industries/sectors.
(b) ; 100 per cent FDI has been allowed in railway infrastructure projects.
Of| the above, which is/are correct ? Answer from the codes given below :
Codés :
(1) E{oth (@) and (b) are correct (2) Neither (a) nor (b) are correct
(3) Only (a) is true (4) Only (b) is true
o-ans [ NN 2 Faper
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(1) <refafy 3T9e wed . T ST e
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(1) e (2) ieH (s
(@) T oiR wiEm A @) @ SR daEm | f
31. aﬁawﬁmwﬁﬁaﬁwﬁwﬁaﬁ
(1) &N = Fed © |
(2) = 1 fam feEm 6 8 j,/'ﬂ’ )
@) (1) 3R (2) I T F ' A
@) A () AR E (2 TR , \‘./
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(a) TeR IRIMYRG o= T < [
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(3) - HIA () el 7| (4) HIA (b) TE T
33." ‘ﬁmagﬁm'm&w&%ﬁaﬁﬁwﬁﬁaﬁaﬁﬁmﬁﬁmﬁ:
(a) Wﬁzm@ﬁ@ﬁwﬁwwﬁﬁmw%
(b)) X srerET afESTS H§ 100% Feae forealt frerer B ergefa < wE €
SR B /W e/E? A foy T § v d
FEd
1) @ R )T E @) T (@) IR (b) T F
(3) A (a) TE (4) HaA (b) T
o-ous I LA .
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34. Population replacement level of total fertility rate is :
(1 21 (2) 1.0 3) 25 (4) 4.0

35. Consider the following regarding shadow banking :
(a) NBEFC facilitating credit spread across the global financial system.
(b)  These institutions are subject to supervisory control of central banks.

Of the above, which statement/s is/are true ? Select the answer from the ques given

below : p
Codes : J
(1) Both (a) and (b) are correct f f
(2) Neither (a) nor (b) are correct by

(3) Only (a) is correct el f

(4) Only (b) is true , & L

36. Consider the following statements :

(a) India is one of the first in Asia to recogmse th‘ efféctlveness of the Export Processing
Zone.

(b) Asia’s First Export Processing Zone was set - upf{n Kandla, India in 1965.

Which of the statement/s given abos@ is /are correct

(1) Only (a) ( @ ony @)

(3) Both (a) and (b) o € (4 Neither (a) nor (b)

Vi
37. Value of the Marginal Product (VMP) is :
(1) MPPxMR !i' (2)» MPP x AR (3) APPXxMR (4) APPxAR
L
38. Which of the following is not a part of Bharat Nirman ?
(1)  Rural I—ioﬁsing (2) Agro-based Industries
/ (3) Rural Elecf?ficgtion (4) Rural Telephony

39. The relevant age'group for computation of child sex-ratio :
(1)~ 0-1 years| (2) 0-4years (3) 0-6years (4) 0-7years

\
40. Which committee recommended abolition of tax rebates under Section 88 of the Income Tax

Act.?
r
(1) Chellaiah Committee (2) Kelkar Committee
Shome Committee (4) None of the above
s IHIIHIIIIHHIIHIHI\H\HI\IHHIIH\I\HH 1
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34. SFEE YT i el Foal <R
1 2.1 @) 1.0 (3) 2.5 4) 4.0
35. Widsmn dfen & Fay § fefafed = faem &% :
(a) UL U Sfyew facia gonelt § T2 G 1 0T T GiaHn e HAa g |
(b) 3 TEAH F=1g Aol o qAAed FE & sremed €1
ST | ¥ HH-91/H YT q&@ ¢/ 2 A feu TS H F Wl WA - P
%< -
1) (a) 3R (b) T TR T | ) qvﬁ@)aﬁm@(b)ﬂé%n{
(3) A (a) TE T (4) HIA (b) FE T >
36. TrAfafad ol W faam =% : /_.4’ | “'. i
(a) mﬁwwqmw%mﬁmhmwﬁunﬁ@wﬁwwaﬁ%l
(b) T w1 g T THERI SiF e Wﬁf%Sﬁ@ﬂﬁﬁgaﬂ o |
T faU T Al § § HIH-91/ FoT & 2/8 2
(1) < (a) e e (b
(3)  (a) ¥ (b) <A <l W AT @ RAE ()
Mo I
37. ¥ 3R 1 A (VMP) %‘-.—”
(1) TARAI XxTHIAR (2) THHIAXTHAL (3) THE XTAAL (4) T XTAR
3. ﬁmﬁr@aﬁﬁaﬁw—a:w{ﬁﬂhwmqﬁ%?
(1) - TEToT S (2) Ty senfa @
/6 wmfm @) i e
39. w%ﬁ—w%m%ﬁquﬁamw%:
1y o-1ad | 2) 0-4dd (3) 0-6ad 4) 0-7ad
40. ﬁl{ﬁﬁqﬁrﬁaﬂamaﬁﬁmﬁwss%whm—méswﬁmﬁﬂﬁ off ?
(1) et wfafa 2)  Faw afaf
(3) vm wfafa (4) SR H | HE T
oous [[{ AN 1
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41.

42.

43.

44.

45.

As per the UN Report on the convention between Poverty and Environment, which one of
the following is incorrect :

(1) Natural calamities always hit the poor more severely.
(2) Poverty escalation leads to environmental degradation.
(3) Environmental degradation adversely affects livelihood.
(4)

4) Environmental degradation reduces poverty.

Ty

Which of the following is not related to ‘empowerment of women’ ? " |
(1) Gender Development Index (2) Gender Empowerment Méasure f

L

(3) Gender Budgeting (4) Gender Discrimination
.

The Phenomenon of “demographic dividend” of a country is related fo :

(1) A sharp decline in the total population ,.f'//

-

(2) A decline in the Infant Mortality Rate rl" . .n'l
(3) An increase in the sex ratio /
(4) Anincrease in the population in the working a¥ group,
4 ”
The agricultural census is done ‘i: w}l\nich one of the following intervals ?
(1) Every year Y, € () Once in three years
(3) Once in five years ™ (4) Once in ten years

The 2015, Nobel Prizé in Economics has been given to Angus Deaton for his work on :
(1) Consumption, Poverty and Welfare

2) . Population, Poverty and Development

4)  Consumptign, Human Development and Education

(2)
. (3) Consumptign, Saving and Welfare
@) ?ﬂ

46. A taxis said to be buoyant if tax revenue is proportionally :
(1) More responsive to changes in output
(2) W Less responsive to changes in output
(3) - Equally responsive to changes in tax base
(4) Less responsive to changes in tax base
oans [ HLAEA AN y

www.examrace.com



41.

42.

43.

44.

45.

46.

TYFd T F el TS SHIRAH= W FH-a-yH fure & oaR fefafed # «=n s /e €2
(1) WTHfde ST FH TG a9 &I A gefad wLd ¢ |

(2) T H g gfg ¥ TETERr &R0 e T

(3) TR & Sfed frate w1 foadia gwife et ¢ |

(4)

qTeI0T &0T et SRl o H HLdl B |

frfafea 9 9 sF-m1  afeen Tufes’ 9 efad 7@ € 2 L
(1) S T Yo (2) S HlHRHT SUH [ f
(3) Sie st (4) et H43-9E

forelt Tz Y Sl A’ H e el /ﬁa%f % |
(1) T SAge ¥ 71 fREe / '
(2) femy ey X H frree , \
(@) fefr oo & f /
(4) roé
f
; |
Ff el Sor fFrefafed ﬁﬁ?ﬁm 3T W T ST ?
(1) 9fq = - (2) o aE | T IR
(3) dr= ol H T AR (4) TEIE H TH AR
g1
w 1
ST § et gRERR, 2015, Tid 2 i fefafead § @ forg &9 o & & foaw foan wn ?
(1) SgsrT, T si FHeam (2) e, e iR faw

RIS T §HE H SHHE qf@i

[ (3) ¥, wdjfaﬁ'l"-ghwlw (4) U, A fowm iR fan

T Tl AR Hgl ST ¢ AfQ L T TAE: o

(1) wmﬁtrkaﬁéwﬁr sAferer HagTeftal

(2)\y SeaeA F wiEd % 9w g

(3) X MR H qiEd= & Ui THE w9 @ g
L SR | gl & 9fd w8 dagTeid

p.aus HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||H|\ 1
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47.

48.

49.

50.

51./

oans [

Report by Task Force on the implementation of Fiscal Responsibility and Budget Management
Act, headed by Kelkar suggests some points :

(a) Primary deficit to be abolished by 2008-09.

(b)  Fiscal deficit should be brought down to 3% of GDP.

Which of the above statement/s is/are correct ? Select from the codes given below :
Codes : ]
(1) Only (a) (2) Only (b) ¢

4
(3) Both (a) and (b) (4) Neither (a) nor (b) {
lp' [
Who was the Chairman of the high powered committee for measurement of poverty in
2013 ? ” B F
§
(1) Suresh Tendulkar (2) C. Rangarajan |
(3) D.T. Lakadawala 4) V‘E Alagfll
i i
J | f
/ ]
Segmented labour markets imply : ! \ '
(1) Labour discrimination. fl
(2) Labour paid wage less than MRP. { e
!

(8)  MP theory of wage fails tg detérmine market outcomes.

-
(4) Equality of wages of dif'ﬁﬂ;ten’?' types of labour.
Which of the above is incorrect ?

-

In India those farmers are f:alled ‘Marginal Farmers” who hold land upto :

(1) 1 hectare | (2) © 2 hectares (3) 3 hectares (4) 4 hectares
"4
Assertion (A) : fndian development programmes are oriented towards growth with social
ustice
Reason (R) :  /Indian economy is afflicted with poverty and income inequalities.
Codes : |

(1), Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) ‘j" Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

AR s
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47.

48.

49.

50.

51.]

foreiar Semeet R aete aied Ifufam & FEfee T Fas St TEem a1 &1 99 gR §79
e feg M ¥ :
(a) WITHe ®=TET 2008-09 o FHE o3 ST |

(b) fo<ita =mer S & 3% d & fRan S =few |

ST weHl § | HA-91/F ¥E T/8 2 = U T e § 5w

e :

(1) o (a) (2) FE (b)

(3) (a) 3 (b) S (4) A (a) ARAE (b) f

Tt 99 % faw 2013 § fed S=enfuer 9fafd & s1eaet ®F 9?1?.

(1) T dgeE (@ W oREE
(3) A dwgEwEn (4) ?1‘5.%. 1T
I|I |

forofor gm oSt 1 79 § \ :

(1) &8 93-9a| »'/
(2) o TSR F FHH A H A | ' Al f

3) wﬁr@ﬁéﬁaﬁaaﬁfﬁw&@ﬁ fagia =1 fowar B
(4) ﬁfwm%aﬁﬁnﬁﬁwﬂml

o B ¥ -9 e © 2

leﬁwﬁowdfﬁ‘éﬂ'ﬁﬁﬁmﬁ’ww%ﬁlﬁwﬂiﬁ?‘aﬁ:
(1) 1TRWIH 2) 23RATH  (3) 3TRIAVIAE  (4) 4TRA T*
o

{ sfumem (A):  dd foerre SRl e = % @y T 3379 2

HIT (R) : R STefeae TSt IR 3T STHHMET ¥ SaE
Fer '|
(1) (A) 3R (R) T FWE € SN (R), (A) F Hel TR0 2 |
(2)‘ J (A) 3R (R) SHi T2t € g (R), (A) FT Tl ST T R |
(3) " (&) T ¥ (R) T B
(A) 7T § T (R) HE B

p.aus HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||||\ 1

www.examrace.com



52. If there is a balance of payments deficit then in a floating exchange rate system :
(1) the external value of the currency would tend to fall.
(2) the external value of the currency would tend to rise.
(3) the injections from trade are greater than the withdrawals.
(4) aggregate demand is increasing.
53. Devaluation, will improve the balance of payment deficit, if sum of elasticity of exports and
imports of the devaluing country is :
(1) greater than unity (2) less than one { f
(3) equal to zero (4) negative J
;
54. Examples of economic integration are : o {
(a) Free Trade Area (b) Qﬁ‘;toms flnion
(c) Common Market (d) r_l"jé:artel ,'II
Select the correct answer from the given codes. -
(1) (a) and (b) (2)  (b) and (c) (3) (a)ij(b) and (d) (4) () (b) and (c)
55. Consider the following statements : ; : |
(a) India’s Trade Policy Reviﬁe}?\!;M (TPR) is carried otit every four years.
(b)  WTO has a mechanisnitfor regular review of the trade policies of member countries.
Which of the statement/s given above is/are correct ?
M ony@  { ° (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
"4
56. / Which among t fol_lowing countries was the largest trading partner of India in 2013-14 ?
L (1) UAE h? '@ China (3) USA (4) Japan
57. New Trade Policy 2015-20 has introduced a new scheme which is called :
(1) Merchandise Export from India Scheme
(2) W Export from India Scheme
(3) - Merchandise Trade from India Scheme
(4) Trade from India Scheme
oans [ HLAEA AN 2 —
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52. Ff¢ 9T e | =T 2l giedg {2 gonedt ¥ ¢
(1) g1 ! I1EF HHA HH & S |
(2) TS T SRE FIAG G ST
(3) AR W Hq:&49 e § Afuew T
(4) T TG @ FI

53. e ¥ YAM W =1 § gHR 2hm, Wﬁaawwméﬂaﬁﬁah@aaﬂta}gm?ﬁa

EARSIER f

(1) TF Y srfer 2) THA
(3) A F wHRA 4) TERE

54. 3Tl THIHTOT % ISR ¢ P : :, "
(a) TR AT & (b) .&-II*-II{LQ'Oh *‘i\rl&l"l

(c) HEATHNSR W Catel
= U T F2f @ WEr W HT =TI B 5

(1) (a) &R (b) (2) <b>3ﬁw<;> (3) rcbxafﬂm 4) (@), (b) ¥R (o)
55. fr=fafaa s ® fa=m =1 . | ¢ A
@) wﬁwqﬁwméﬁm>mwaﬁﬁaﬁam%.
(b) Tova MR FTeA % I FE <t AR At w1 Fafia gwien & fae o 67 21
IR A BT/ g 32

W wEE (] @ ()
(3) . (a) SR ()T 4) (a) 3R (b) W IS T
56.'; frfafaa & 9 ﬁﬁ—lﬁéﬂﬂﬁ 2013-14 % SRA IRA H1 FoQ TSN AR qFER o1 ?
(1) HIR e g 2 =
(3)7 HgH T Paﬁﬁw (4) SHA

u

57. 7 SR A 2015-20 F TF 7 W T H M 8, T el T S
(1)  TeE<ES tHue M e @M (2) TR Wi sfea whi
(3) WderES € WM sfed whim (4) <€ WM Ifew @

o-ons [ LA 2
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58.

59.

60.

61.

o-ans [ NN z

What does ‘Price Scissors’ refer to ?
(1) Marshall’s example of forces of supply and demand.
(2) Exports of two strategic raw materials from a country.

(3) A sharp fall in price of a major export item accompanied by a sharp rise in price of a
major import.

(4) Export basket of competitive local manufactures.

Ty

Hedging in the foreign exchange market refers to : { 3
(I) An act of devaluation. f

(2) Not covering a risk of foreign exchange in future. -

(3) Covering a risk of foreign exchange in future. _ « | (

(4) None of the above. /f( . - |

i i
/ | f
|

/| J
For Real Effective Exchange Rate consider the follc?vin'g statements and select the correct
answer from the codes given below :

r

(a) It refers to average of value of country’s, currency.in rélation to an index of basket of
values major countries’ currenGies.

(b) It refers to nominal ratio oﬁ,aﬂe{)untry’s currenq} value to average value of a basket of

currency. Vi
Codes : »
(I) Only (a) is truet (2) Only (b) is true
(3) Both (a) and (b).i are true (4) Neither (a) nor (b) are true

Consider the fc?flowing statements :

a
(@) In the contett of the classical model, loan finance may be a means of transferring the
burden to the future generation.

(b) _ Foreign borrowing permits financing public programmes without placing burden on
the present generation.

(c), Foreign borrowing is not burden some to the future generations even if the funds are
o used unproductively.

Whichfof the statement/s given above is/are correct ?

(1) Only (a) (2)  (a) and (b) (3) (b)and (c) (4) (a) and (c)

N
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58.

59.

60.

61.

o-ans I

Fmd St (s Hiew) frefafaa § frget IR Shd #iar § 2

(1) Wi gRI /i AR qfd ST qehdl 1 ST |

(2) TH 98-<¥ 9 < WHifaew w=d Hel &1 Famd |

(3) TH UHE M ! HiFd | w19 ghg & g WHITaew Faid 7S & HiAd § e fiRee |

)
)
)
(4) AfaEauieres o fafmiast =t fafd Sl (TEarR smehe) |

i
faceft fafa s  3fsn freafafe # feast ot ¥ w72 L
(1) ST 1 TH e | f
2) wfg= # faceht fafma =t sifem =1 wita 7 &)
(@) wfoss | foaef fafa =1 sifew =61 wffe s e

) i R T ; % |

4

wﬁmwﬁﬁrﬁma%ﬁqﬁmﬁr@amﬂwﬁgaﬁaﬂ?ﬁmﬁ#@ﬂ@ﬁﬁwwaﬁ
G

(a) I% IHE T w1 qe1ell & ThS F od YR ?ﬁwﬁwwﬁgm%aﬁwq@ﬁ
SR HHA FI T

(b) %gm@ﬁa@n%ﬁwwﬁk%ﬁ@ﬁﬁm%ﬁ%t@%aﬁmwaﬁaﬂ?
Hohd L 2 <, |

%2 : Ny S

(1) Fad (a) TE 2) Fad (b) T T

(3) (@) 3 (b) 3T R @) () &R (b) 3T TR T F
' {

mﬁmw@mwﬁ;

(@) W@wwam?ﬁﬁwm%ﬁﬁm,%ﬁmmw%mmwwmm%
" (b) fercet 2 g T T IS R ST, WIS s S fen o S e e

gl
Wwwm%mwﬁ@mﬁﬁfwwqﬁﬂwwﬁﬁwq
\ foman T A
sqﬁqaaqwﬁﬁ@aﬁ:rm/ﬁaﬁmuﬁ%/%?
(1) 9 (a) T ¥ 2) () ¥R (b) W

(3) (b) IR (c) W (4) (@) IR () W&

i 2
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62.

63.

64.

65.

o-ans [ NN z

Tax incidence refers to :

(1)  Whether a tax is progressive, proportional or regressive.

(2) How often a tax is collected.
(3)  The person or group who ends up paying a tax.
(4) How a tax is collected.

Assertion (A) : A progressive income tax is based on equimarginal sacrifice. F

Reason (R) : Higher the income, lower will be the marginal utility of money for jhe tax
Payers.
Codes : { [
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  (A) is true, but (R) is not the correct explanation of (A). " S r
(3) (A) is true, but (R) is false. _ { .;
(4) (A) is false, but (R) is true. j‘P{ - |
F§ |

/
Which one of the following taxes is Wlthm the ju 1sd1at10n of the State Governments as
enumerated in List - IT of the Indian Constitution ? a

(1) Taxes other than stamp duties on transactions 1q{tock exchanges and future markets.
(2) '

(3) Taxes on mineral rights sub]ect"t&any llmltatlor( imposed by the parliament.

(4)

Taxes on Railway freight and fares. -

Rate of stamp duty in r_esf:kcg. f certain financial documents.

Vi

Y

IC -

Good

.-l" )
' X

Good A
In the above dia;%ram, if curve IC represents income - consumption curve, then it means that :
(1% Only (A) is an inferior good.
@\,
(3)um B:_oth (A) and (B) are inferior goods.
(4) (A) is a normal good.

Only (B) is an inferior good.

=
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62.

63.

64.

65.

o-ons [ LA :

FUard feAfafad § 9 feaet 3R Hohd a1 €2
(1) o1 IS F JITH, Tl a1 Fiawmet 1
(2) I FR fHadt IR THA foma S ¥

(3) A 1 WHE S Sid: R hT YA HIA T |
(4) HIE B HY THA fRA W@ R

APURAT (A): TR AT X THM FHIG T W SR B | {
HTT (R) : mﬁﬁﬁwﬁm&ﬂﬁwﬁwmméw@ﬁm
%< {

(1) (A) 3 (R) AT T € SR (R), (A) 1 T TLF T

2) (A) HE ], WA (R), (A) FT FE TILHRT T 7 | J

(3) (A) T T (R) T < Y N

4) (A) T B, T (R) e & //' p
/ |

frefafea w1 & & ®9- mwwwﬁ%&hﬁwﬁ W%WWWWaﬁwﬁ A
geiag o T &2

(1) I TFEs 3R IR SR # 91-37 7g ©I1 T @aﬁﬁaﬁ%‘{l

(2) (A AR SR AT WA | ¥ (

3) Wmﬁaﬁﬁawm@%ﬁﬁ?@ﬁaﬁammwl

(4) o fa<dita Esi & H|Hg|ﬁ?%rq3'{frﬁa'{l

Y

IC \ (

X
A

sqﬁaawﬁ@ﬁ ﬁlcwmwmﬂwwﬁhw%ﬁmm%%

(1), ¥ (A) frFe =g 2

(2)  Faa (B) Fig= a5 Tl

(3) (A) 3R (B) TNl Frge g B

(4) (A)9ER 9& B

6]
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66.

67.

68.

69.

A
D
Y E
E P
9
B
O 0  a
Quantity J’/
In the above diagram, the consumer surplus is represented by the area olf ¢ -
(1) APCE (2) A APE (3) A ACE (4)- Rectangle OPEQ
1

Simon-Hawkins conditions relate to which of the following ? { .’;
(a) Static Leontief model // \ »

(b) Dynamic Leontief model
() These are necessary and sufficient conditions ﬁir the solution of the model.
Choose the correct answer from the codes given bel

Codes :
(1) (a) and (b) (2) (b) and (c f (3) (a(, (b) and (c) (4) (a) and (c)

H

Given the production function Q=2'K%' L%, find the output level when 8 units of capital
and 27 units of labour are used.

1) 36 ﬁ(z)’{ 54 (3) 18 4) 24

r
F
|'

A consumer s'p:inds < 240 when the price of the commodity is I 15 and I 300 when the price

_ rises to X 20. The elasticity of demand is :

2
m 3 @ 1 ®) o @ 35

70. Faf a regression model
Y =8, + B X{ + BoXo+ o + B X + 1,
the degrees of freedom of test statistics [t|, with ‘n” observations is :
(1) n-k (2) n—-k+1 B) n-k-1 (4) n+k+1
oons [N 2 papeca
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66.
A
D

Er—

C B

O 0 I::-_'

HET

S s A ST S A R A g T T - (
(1) A PCE (2) A APE (3) A ACE @ | =i oPEQ

67. R - el %) e Freean 8 @ el Wb (7
(a) foamfew @1 wWite dfed | £ ;
(b) foEmfew &1 TS died | / '

;f | |
() 3 Aled & T & fau sovas R i@ 1/

w: ‘K f—‘L
(1) (a) &R (b) 2) (b) ;ﬁw ) B) @ (b)) @) (@) IR ()
q

»
68. 2T U ST Wo Q=2-K/3- 13, ¥ Seqed T 9T, e TSi T 8 ST SR AfHHT BT 27
SISl T STAFT G R ¢

1) 36 'i(z)J{ 54 3) 18 4) 24

69. & fhEt o] ol FIAd T 15 Bl © @ U T 240 T HIAT § AR 6 IH I FT HITd TGHL
¥ %2ozﬁaﬁﬁ%?ﬁ7?§00@%im%| T T o 1 T e § 9 wF e ?

3 1
M 3 @ 1 ®) o 4 3
70. waalvmmaam

Y =8+ B X; T BoXy+ .+ BaXy 1,

‘n’ TeTul % WY |t Tiferent T g W@ Fife §

1) n-k 2) n-k+1 3) n-k-1 4) n+k+1

o-ons [ LA :

AN
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71.

72.

73.

Match the following and answer from the codes given below :

List - I List - II
(a) Wald test (i)  Stationarity
(b)  Unit root test (i) Errors in Variables Model
() Student’s t test (iii) Causality
(d) Granger test (iv) Significance of Regression Coefficients ]
Codes : ¢
@ b © @ (
L G @ Gv) () f f
2 @ @ @v) () d
() @) @Gv) O @) 'J. ’ f
4 Gv) (@) G @) I - |

Which of the following model/s can be..*estlmated using OLS, following suitable
transformations if necessary ? Note that ‘e’ rdenotea!\he éxponentlal.

(@) Y,=a+pBX +u, ?éxt+ut

© Y,=a+B InX)+u, y d)  Yy=a+ fsx%-m{
Codes : j.: .
(1) (a) only \ 1:'“ (2) (b) and (c) only

(3) (@) () and (d) only = 4) (@), (b), (c) and (d)

If OLS is applied separately to each equation that is part of a simultaneous interdependent
system, the resulting estimates will be :

(1) Unbiased and consistent
2)  Biased arfd consistent

(
/ (3) Biased and nconsistent
(

4) It is impossible to apply OLS to the equations that are part of a simultaneous system

74.  Which one of the following is not a plausible remedy for multicollinearity ?
(1), Use principal components analysis
(2) ‘r Drop one of the collinear variables
(3) Usea longer-run of data
(4) Take logarithm of each of the variables
oons [N 2 papeca
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71. Trefafes # gafad fefee o) = foo o § 9 s gfw
Tt - 1 T - 11
(a) dE TR () e ofereen
(b) e T = (i) = H Ffe dtea
() wWe=d'd' = (iii)  SHTOT
d) IFmT= (iv) SETSO] ORI R refehdl
%< 4
@ () (© (@ {1
1 @ @ Gv) (i) J [
2 @ (@) @v) (i)
G) @) @Gv) @ (i)
(4)  (v) () G (D) H'i'
72. fefafEd Aiea/dl § afc Tavas & @ SI=Rv |/5 |eh<4/=r oh! W =Aaq a7 fafy § stekfera
e <1 Weha €7 A1 HE R (e) WA= H*{:dd w21
(@) Y,=a+pX,+u (b) | Y o Bej(t+ut
() Y,=a+p In(X)+u, (d) Yt=aI X%"‘utf
E(.F{ : L) I r )
(1) ¥ (a) <J (2) 9 (b) S ()
() FH (@), (o) ¥ (d) N C @ @oro R (d)
73. Ifc T e - ﬁﬁtwmﬁmauﬁw%w%@wwaﬁﬁa (OLS) =
SUAN e ST, L.!I.ILCI SHAR Bl
(1) frorer siegem |
(2) el SR HET
(3) TeTaTaYul gﬁj} 3T
f @) g Fﬁ-guwﬂq JUTEA! o 3T &, 371 3TMeher, MMM <[Iaq a7 fafy (OLS) gr
T T |
74. ﬁmﬁfwﬁ@aﬁ?ag—w%@waﬂaﬁﬁwwwﬁ%?
(1), ffue wFm=g fageron =1 w&m
2) j"wwwmmﬁm
(3) QEIhTICT STihel kT T
YAk I h TTEFIOTeRTE SIAROT Sl ol
Do \||H\|“||H|\|“||\|||M||\|H|\|||||H|!|“||\||\|\|\||H|\ » Paper
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75. Consider the two regression models :
Model 1 : Y, =81+ By Xp + 1,
Model 2 Y=y +ayXo +a3X5 +u,

Which of the following statements are true ?

(@) Model 2 must have an R? at least as high as that of Model 1.
(b) Model 2 must have an adjusted R? at least as high as that of Model 1.

(c) Models 1 and 2 would have identical values of R? if estimated coefficient.of s is zero.

(d) Models 1 and 2 would have identical values of adjusted R if the eFtlimated cc;ef,ﬁ.cient

of ay is zero.

Codes :

(1) (b) and (d) only (2) (a) and (c) only 1 {
() ()and (d)

(3) (@), (b) and (c) only

/

_oop_

o-ans [ NN ;

o

@ (@
/
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75. < GHILA Aigal R fa=r Hifey
wWSA1 Y, =B +B Xyt
WMESA2 Y=o+ a,Xp +agX +y,
freAfafea womi & @ F9-9 9@ €2
(a) Wieel 2H R2 % AH %7 § & Hise 1§ 31fee M1 Afeq |
b) wteet 2 AR R2 1 AF %9 § %6 s 1% a1 % gwwa e
) ﬂﬁﬁlSﬁTZﬁRzaﬂﬂﬁwmmﬁ%aﬂmWWWW%{'
d) nfg?«rlaﬁmﬁ’,WWRZWWWWWQW%%WWW%WW%%

F (b) ¥R (d) @ F@eR©

(1) (
(3) I (a), (b) 3 () @ @ ), @R @
a C .f f’{ C :
-00b- ‘ _:"l
g .
¢ (™
!i .J{
P
|
\
Y
o-ons [|[[{IESEHENTATINI .
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Space For Rough Work
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